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Question 1

Question Type: MultipleChoice

Which of the following order characteristics would make increased levels of inventory necessary?

Options:

A- Speed
B- Variability
C- Cost

D- Delivery

Answer:

C

Question 2

Question Type: MultipleChoice




When a logistics manager assigns workers to receive, store, and move goods into and out of warehouse, they are managing which of
the following activities?

Options:

A- Physical distribution
B- Materials handling
C- Production management

D- Inventory management

Answer:

D

Question 3

Question Type: MultipleChoice

An organization wanting to improve the management of resources and exceptions across the supply chain should focus on enhancing:



Options:

A- supply chain visibility.
B- simultaneous consideration of resources.
D- resource utilization.

D- overall asset utilization.

Answer:

A

Question 4

Question Type: MultipleChoice

A restriction that can be classified as a non-tariff barrier would be a(n):

Options:

A- registration license.



B- import quota.
C- cargo preference.

D- manufacturing location.

Answer:

B

Question 5

Question Type: MultipleChoice

Which of the following rules specifies whether the importer or exporter is responsible for insuring cargo?

Options:

A- World Trade Organization (WTO) rule
B- Lloyds of London rule
C- Incoterms rule

D- Shipper's rule



Answer:

Question 6

Question Type: MultipleChoice

A company has a line haul cost between Point A and Point B of $5 per mile. The distance between the two points is 750 miles. What is
the cost per hundredweight (cwt) for a shipment weighing 45.000 pounds?

Options:

A-$012
B- $5 00
C-$8.33
D- $9.00

Answer:

A



Question 7

Question Type: MultipleChoice

According to the SCOR model, the five major categories of metrics that should be used to measure the performance of Process D1:
Deliver Stocked Product include assets, costs, flexibility:

Options:

A- reliability, and responsiveness.
B- capability, and responsiveness.
C- reliability, and capability.

D- reliability, and availability.

Answer:

A

Question 8

Question Type: MultipleChoice




A company receives automobile parts from global manufacturers into its distribution center before redeploying the parts to local retail
outlets. Which of the following documents can be used to proactively plan for the redeployment of the parts?

Options:

A- Bill of lading (B/L)
B- Advance ship notice (ASN)
C- Routing guide

D- Shipment manifest

Answer:

A

Question 9

Question Type: MultipleChoice

A company finds itself constantly expediting its customer's retail store deliveries in order to prevent stock-outs. The best solution to this
problem is to;



Options:

A- carry additional inventory to satisfy customers' demand.
B- balance the supply of inventory with the demand.
C- minimize the inventory risk of product obsolescence.

D- increase inventory turns to the highest possible value.

Answer:

D

Question 10

Question Type: MultipleChoice

A logistics manager is developing a supply chain risk management plan incorporating contingency plans for alternatives to transportation
failures. Which of the following factors best represents this approach?

Options:

A- Avoidance



B- Acceptance
C- Mitigation
D- Redundancy

Answer:

A
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